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ANGLO CHINESE SCHOCT
(PFRIMARY)

END-OP-VEAR EXAMINATION 2004
MATHEMATICS
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Class: Primary 1
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THIS POOKLET CONFAINS 15 TAQES.
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Section A (15 questions, I marks eocn

Muitiple Choce QQuestions

_Eill in eoch bracket with the correct choice of answer.
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3. Dten-cert coins and 6 twenty-cent coins pake up the

oF Cenvys.
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Which of Tollowing aroup of sgueres d

This pattern?
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stickers fzes than

Amanda. How many stickers doss Arnanda have?

Jane hag 15 stickers. She has 3
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Section B { 20 questions, 2 marks each
Short Answer Questions
Eilb in the blanks with the correct answ

165, Write the number 98 in words,
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17.  Arrange the ngribers in order begimning wivh th
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18.  Complete the number pattern
12.45,18, cooed, 80,830

19, Fill in The missing numbers in the
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29, The Table below shows the time-oble of Jehn,

Titne-takie _ 2

B Time '; Subject

| S am Matherwmatics

10.00 am ) _ Reress ]

] 1030 am N English

1200 noon Mother Tongue |
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John leoks af the clock during The Enaglish jagson. Whicn
one of These clocks is showing T’W’ corcect Tine?
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2ox C hag B maere marbleg thon Rex

T Box € has 12 marbles, how many marbles are there

1 Box AP

mere marbles than Box 4.
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Section C
Story Sums (10 questions, 3 marks each)
~Show your working and statement for each story sum.

‘36, Jason has 20 stamps. Working
Pete has 5 ctamps rmore than Jazon.
How many stamps does Fete have?
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Pefehas __ . . ___ . stamps.

37. Mrs Tan baked 50 cookies.
- She gave Mrs Ong 28 cookies,
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38. Mr Raja hag 3 children.
He gave each of tham $¢
How much did he aive inall?
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39, Farmer Brown has 63 cows. Working
He hag 20 more cows than horses,
Faow ey harses does Farmer Brown have?

40, Mary hag 16 dolis,
' She haz & dells fewer than Jane. -
How wany dells does Jane have? i
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21, Primary 1IH hag 35 pupils,
Primary 17 hag 38 pupils.

Hew oy pupils are there in The fwo clogses?
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42 Matthew has some mGI"blﬁ'ﬁ" | Working

~~ - - After his friend gave hitn 24 marbizs, ;
ne had 52 marbles. i

How many marbles did he have ot 1iist? i
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He hed __marbles abfirst, 'g

43, William has 18 sweets.
He puts 6 sweets inte 1 cortainer
Flow many containers of sweets'does Williamn have?

William has e canitainersz of swaeTs,

A4 Tohn has 4 coins, _
He has BO¢ and {0¢ «oins only.
If he has a fotal of 80%, how many 106 coins does he

have? | -
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45, Somowns b pets.
Thev nee pebbits and birds.
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The animals have a tetalof 16 lecs,
ny Lirds does Sam have?
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(Hint: Draw 2 dicorem.)
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22) Circle four apples
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